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@ 100, 17,1632, 10000, 1.632 @ 100,17,1632,1000, 1.632

@10, 17,1632, 1000, 1.632 @ 100,17,1632, 1000, 16.32

® 10,170, 1632, 1000, 16.32

3 17 32 1632
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@D 12.5x0.62 = 0.775 @ 125%x6.2 ="7.75
® 125 x 0.062 = 0.0775 @ 0.125x 620 = 7.75

@1.25 X 620 = 775

B

D 12.5 % 0.62 = 7.75
@ 12.5%x6.2 =775

® 125 x 0.062 = 7.75
@ 0.125 x 620 = 77.5
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D 3.5x%x1.57 @ 620x2.43 ® 9x5.06
@75 x 0.88 ® 349x1.22

B

@D 3.5x1.57 = 5.495

@ 620 x 2.43 = 1506.6

® 9x5.06 = 45.54

@ 75x0.88 = 66

® 349 x 1.22 = 425.78
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@ 7580 x 0.04 = 303.2

@ 75800 x 0.004 = 303.2

® 758 x0.4 =303.2

@ 75.8 x 4 = 303.2

® 758 x0.04 = 30.32
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@® 26,100,100, 1000000, 0.11648
@26, 1000, 100, 1000000, 0.11648

® 26,1000, 10, 100000, 0.11648

@ 26,1000, 100, 100000, 1.1648

® 26,10000, 100, 10000000, 0.011648
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2.6 x0.035x 1.28
26 35 128 116480

~ 10 * 1000 X 100 _ 1000000
whebA] 26, 1000, 100, 1000000, 0.11648

= 0.11648
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® 42x23 @ 420x0.03 @ 5.6x42

@)0.42 x 8.5 ® 132x0.42

4.29R5shs 711 Bt 2o At A3t 4.2 ek 2y,
D 4.2%x2.3 =9.66

@ 420 x0.03 = 4.2x3 = 12.6

@ 5.6 x 42 = 4.2x56 = 235.2

@ 0.42 x 8.5 = 4.2x0.85 = 3.57

® 132 x 0.42 = 4.2x1.32 = 5.544
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389 x 49 = 19061 Yufj, A o] 2

@® 389 x4.9=1906.1 @389 % 0.049 = 1.9061
® 389 x0.49 = 190.61 @ 3.89%x49 =190.61

® 0.389 x 49 = 19.061
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D 328x14 @ 328 x0.14 3 0.328 x 14

@0.0328 x 14 ® 3.28x 14

rlo
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D 328 x 1.4 = 459.2

@ 328 x 0.14 = 45.92

® 0.328 x 14 = 4.592

@ 0.0328 x 14 = 0.4592

® 3.28 x 14 = 45.92

wrabA o] 7Y 22 A2 @YYt




22. b= HoA aadS vEA A2 AS 12X L.

® 4.3421 x 100 = 43.421 @ 43.421 x 1000 = 4342.1
@28.67 x 0.1 = 2.867 @ 28.67 x 0.001 = 2.867

® 286.7 x 0.01 = 0.2867
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@D 4.3421 x 100 = 434.21
@ 43.421 x 1000 = 43421
@ 28.67 x 0.001 = 0.02867
® 286.7 x 0.01 = 2.867
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D 26x3.7 @ 3.56 x 23.5
@2.72 x 4.3 ® 1.2x48.3
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® 2.76 x4.5

D 2.6 x 3.7 =9.62

@ 3.56 x 23.5 = 83.66
@ 2.76 x 4.5 = 12.42
@ 2.72 x 4.3 = 11.696
® 1.2 x48.3 = 57.96
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@D 176 x 0.248 = 43.648 @ 0.176 x 248 = 43.648
® 176 x 24.8 = 4364.8 @17.6 X 248 = 4.3648

® 1.76 x 24.8 = 43.648

176 x 248 = 43648
1 .
@ Og:%oﬂ E"'Eo]'ﬂ

1 1
1 248 X — = 43648 x —
76 X 8><10 3648 0
17.6 x 248 = 4364.8
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[ ]ere] 71 B & AL oj= AU

@ 29.5x[ | =53100
@ 2.95x| |=531

@D x 18 = 5.31
® [ |x0.18=531
® [ ]x0.18 =531
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95 x 180 x 10000 53100 x 10000

0.295 x 18 = 5.31
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295 x 0.18 = 53.1
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2950 x 0.18 = 531
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